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@) J
SECTION — |
g | -
CHILD DEVELOPMENT AND PEDAGOGY
T e we R
There are 30 questions in all in this section.
_ Al questions are compulsory.
| WEEdga 30w
. w4t e arfard €

@ I.  Alearning di;abi]ity that involves difficulty in handwriting is called
(A) Dyslexia (B) Dyscalculia

f (C)  Dysgraphia ' (D) Attention deficit hyperactive [iisnr{l.f.r
g O At Rysseriman fod ferarae wfeé snfirer & saemar 2 -
A)  Tewtfaen (B) Tecnempforan
(C) fenfem - (D) &I arura sfrafeaa e

2. Which one of the following is related to summative evaluation ? .
(A) Provide the teacher with continuous and immediate feedback about student’s v
progress. '
(B) Focuses gn molecular analvsis-of instructional material,
(C) On-going of systematic assessment of leamer’s achigvement,
(D) Terminal assessment of the leamier's pefformance at the end of the session.

e 1 @ S8 =1 s e d deia @ 7

(A) 3119 1 313 6 Wil & i e FE |
(B) oz amaht & sy fowe ﬁ'"‘

(C) Tareqreff =fY Iyetfen &1 emaR

(D) @7 o 37 | frgmell % wesh w1 faw e |

3. Howard Gardner says that there are many specific types of intelligence or frames of mind.

Which one is a category of intelligence as suggested by him ?.

(A) Analytical Intelligence (B)  Creative Intelligence

(C) Naturalist Skills (D) Practical Intelligence . _
| Q 79 MTE T FEA & foh e webrt i qig 7 faum < %o Ed €, IEeh g g 7 gz 6 g
' AR ?

(A) Ty afg (B) oA g

(C) ST B ' (D) . SHEE dfg

In our country many children speak more than one language. Find out from the following,

the correct advantage to children who has ability to e;lpeak two languages.
(A) Facilitate concept formation (B) Facilitate analytical reasoning

i mitive flexibility (D) Al the above
5 e 3 s wrar i & | 7 3 e, e e
1ot w1 < feAC w1 &
(A) SFEHRY A § gl (B) Tarveryurenss @ # gfaw

(©) e TeE A gRE (D), I wd
P.T.O.
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(4) ST-1

A teacher in the classroom is doing Some activities like : (a) asking not only what happened

l_:'ut also “how and why”, (b) helping them to compare various answers to a quesﬁqn‘mld T
Judge which is really the best answer. From thinking point of view, through these activities "
he is trying to promote ‘

(A) Analogy (B) Critical thinking

(C)  Integrative thinking (D) Concept mapping _

T AT e & o ity & w@ R, I (37) 7 baw 97 @ w71 gon 9o 75
11 5 3 afk w0 (@) 3% & 999 % i 3ot qor wow it o F@ § weg HE A
AT | ol 3y Fam 2, iR d s aga R N B w

(A): |9MHar (B) 3ATeTrerTeqss |re

(C) wHhiga wiw (D) Jr@gTon HfEoT

Positive or negative stimuli or events that can motivate a student’s behaviour. Which
psychological perspective explain motivation in this way ?
(A) Humanistic (B) Behavioural
(C) Cognitive (D) Social
O BT SFR TehTIRHeR STroTE A1 Sreid 517 3% s 1 i 2 g § | 9 a1 s
- uitie 3 e & S S stren w0 E
(A) »HHEATETE] (B} segsEin,
(C) HHIHS

(D}
The term inclusion means educati naidi iacational needs in the

regular classroom,

(A) mostof the time (B) full time

(C) some time (D) notme

HHTHY 9155 1 Haerd, fasiy S savasmar amt o<1 51 _ Frafira weams o Pifirm
-

(A) =ity quy / (B) U &Ha

(C) T (D) Toeft o

A language teacher teaching a poem in the classroom by explaining the details of the poem
and asking the studerits to draw conclusion or broad view from explanation. It is an example

of
(A) Inductive reasoning ' (B) Deductive reasoning
(C) Concept mapping (D) Hypothesis testing

§ e T firereh e e w1 foraor awsmeR e § S ver @ 2 o onl e
& Frepd freen 1 s TR A s @ | R EEm R ~
(A) FTTATHS 6/ (B) frmaress s

P b e (D) e Tl




ST-1

9. Psychoanal &) F
e analysts beliey . . -
1d™. It is called ‘ove that there is a Primary means by which the ego “keeps the Jid on the
(A) - Super Ego
(C) anﬂgctg (B)  Pleasure principle
D) Repression
AT 7 2 e D), Repremsia
FHEATT 8 - i H'“q%,mWEgo“qutaﬂ‘iﬁmm%nqg
e M (B) 3w fargma
(C) &= 15 66

i
10. Introversion-Extraversion trait of personality
(A) Hans Eysenck (B) R.B. Cattle

{(?} Gordon Allport (D)  Carl Rogers
mﬁw—ﬁm%mmﬁq%mmﬁmé:
(A) #woamsds (B) .t Fzw
(C) TiTEa 3merdrd . (D) =red T

1s propounded by

11. Which of the following best exemplifies what motivatuen is-?
{A) Student “A™ is emotional about the upeoming school year and wants to.do well.
(B) Student “B” is energized, sets a high @al foll doing well in his maths class, persists
id

with considerable effort. an - | Aes"
(C) Student “C™ is good at direc he wants to accomplish,

(D) Student “D™ works hard, experiences positive feelings about her academic work.

frer 3 @ w1 & watem TerEwr 2 s Son wn # 2
(A) B “37 I Thet 94 & "R T WIgH 2 3R 3701 FE IR |

((B) BT “F" HiwE 8, 9 @ 7 7 37w w1 % o aw wiem Futha w2, s
% |19 &1 &1 8, 3N S8 § I=aw 3% T FATR |

(C) B "\ 98 F1 T FT wedl 2 T A9 2 e +03 4 s=a 2
(D) BT ‘T el NeAd el &, Iaeh Ifeieh i & TR H HehTIees A1 1 3799 %l 2 |

12. [f extrinsic motivation is a means to an end, then intrinsic motivation is

(A) abeginning (B) anend in itself P
(C) a beginning and end (D) None of the above
f wrey SRom U 3 o g 2, A et o R |
(A) U YRITE - (B) 319 3179 § U A
(C) T YA 71 378 (D) Il o
P.T.O.




13. A systematic science which provides riiles, laws and principles for achieving adjustment
With self and the environment is called :
(A) Motivation (B) Mental hygiene
(€C) Leamning (D) Conflict
T wrafe fam S w3k A & @ a5 e % fre fa, waﬂr
Fergia wem @t &, e 2
(A)  sfiron .- (B) fewmfi smimrar

(C) =firm (D) &%

14.  One of the adjustment mechanism involves thinking logically and socially, in approved
reason of past, present and proposed behaviour is called

(A) . Compensation (B) Rationalization

(C) Regression (D) Repression

U AT T 8 i, FHE S S SrER % seifen Swon § o st amie
9§ Hi== wnfiver 8, Seemar 2

(A) oo (B) —wg=stoy
(C) wfeme (D)

15.  Organization set-up of the school in ﬂa& d ants This factor belongs to

which category ?

(A) Physiological factors (B) Psychological factors'

(C) Social factors (D) Other factors

e Al WIS T BT % HTH 1 wrfa st 2 | 98 TR 3 Aot @ wefta & -
(A) BT a1 ‘ (B) . RIS Hw

(C) g+ Freh (D) 31 W

16.  Which of the following condition promotes adjustment ?

(A) Acute anxiety - (B) Obsessive thought of guﬁt

(C) Fear of illness (D)  Free from neurotic fears and anxiety
o=t feferal o 6 17 guraism =1 sgran 3t 2 .

(A3 i I (B) 39wy %1 9 faram
(C) drlt H1 (D) =i v 3ik R A 7w

i
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17.

19.

20.

{7) -
As a teacher vou ask ¥
: you asked vour student< :
on our life. Which Cu.r ili\ﬁfuftnm I“_“TI[C an essay explaining the mipact of pollution
gmuve level of Bloom’s taxonomy 1s best 1llustrated o ihi:

assignment ?

. 5

(A) J’tnall'-’hlf'- _ (B) Apphcation

(C) Comprehension (D) Knowledge

;ﬁéﬂ;ﬁ%mﬁmmmﬁﬁmmmm%mmmﬂﬁﬁﬁﬁ“ﬁﬁﬁ
FEN | T HR R =0 & ifie F 319 § G e e f

(A) favermo (B) HWEF

(C) o (D) M

::ha l-leachcr_yn‘u have mllcg:ed ini‘nmuqnun about intelligence. p:;rwn-!!il} -'»_l"d classroom
aviour of a student by using appropriate test and check-list. This process is called as
(A) Assessment (B) Measurement

(C) Evaluation (D) All the above

foveres & Al o e ueh sg wlie sk wte g 1 T w g # Gfe, sfEE a
HE SARR & A H TSR U3 i 2 | 78 whoman deerd] 2 -

(A) e (B) 1A

(C) WA (D) Iutia wi

T

Which domain is not named in Bloom’s taxonomy

(A} Cognitive (B) BCondlive
(C) Affective’ " | g ua
A ET N SH & iR § 1 e,
(A) ERAETHS (B) frarus

(C) wETHS (D) HAIST

Which one of the following is not a guiding pnnciple of Nattonal Curriculum Framework -
2005 ?

(A) Connecting knowledge to life outside the school.

(B) Making examination more flexible and integrated into classroom hife.

(C) Leaming should facilitate the rote method.

(D) Ennching the curriculum to provide for overall development of children rather than

remain text l:mk centric. y -
Brforfar § A 1 Y wrERT 2005 @7 H AT fagm T R 7
(A) @ﬂmﬁqﬁmﬂml '
(B) qﬁmﬁmﬂmaﬁmaﬂlamsﬂaﬁﬂﬁiﬁm|

yey  sieTs T faft ) g @ e |

W*{;ﬂr@ﬁmﬁ#mﬁm%ﬁmnﬂmwm I
P.T.0.

(D)
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21.

22,

23.

(8) ST

Imitially 4 baby grasp the object by using s whole palm. Gradually as growth apg
dcvelupmmt continues the baby uses finger and thumb to pickup the object. This type of
Progression s

(A) Cephalocaudal progression

(B)  Proximodistal progression

(€} Mass to specific action progression

(D) Random progression - :

U 5 O T 33 1wl a1 i 0 e 8 v @ | - 9T 3 R %
5 s Snfera s S 1 AN ] ) I3 o fore et B | 3 wHH A WA R

(A) Fabseitem iy

(B) witemifems ity

(C) =y & fafire srdard yify
(D)  wfafm yfy

D"evcllnpmem in chiId 1s often divided into three broad domains such as physical, cognitive,
emotional and sogi@l. So far as developmental process is concerned these domains -

(A) develop indemﬁemly without influeneiny other
(B) developin an integrated and wholistic tashion

(C) develop partially

(D) develop randomly

= & fysrg ) s adies, § 3 = =g 83 1 fviPra
foran e @ | o wfthen o &1 d el aw wafAm 2 7

(A) 3= ®I warfaa fere famn @ &9 @ fawfim
(B) g 3k e A st (L
(C) aifirs w9 & Rfem
(D) e g & fawfia

A child who 1s high or low in a characteristic (such as verbal ability) will remain so at
later ages. This statement stress the importance of

(A) Early experiences (BY Environment
(C) Heredity (D) Both Heredity and environment

e w1 1 P 0 P (38 wifige ) H I o R, e 3w A ofi ot | e e
& gEea AR AR

(A) Waﬂq—a (B) STATETe
e (D) Srgafivsan auy Qe 2
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24.

(9) F
The law of use and disuse in learning is also called s
(A) law of effect (B)  law ol crercine
(C)  law of reinforcement (D) None of these
Mﬂmﬂmﬁﬁm%ﬁmﬁmmmg:
(A) w9 & fram (B) = =1 fram
(C) e =1 faam (D) & & = 78

.l“ Paviov's expeniment the dog salivated not only when meat powder was placed directly
in his mouth, but also well before that 1.¢. when heard the trainer’s footsteps coming down
the stairs. Thus phenomenon is called as

(A) . Exunction (By  Uncondittonal stimulus

(C) Conditioned reflex (D) Readiness

I & WA H, Fe 7 $Ee W W2 wiw i e vt @ e ev 2, e s e o

Omﬁniﬂﬁiﬁﬁﬁ 3 e YT & wenl 6 WA g R | W Eg R s AR

26.

2?‘

(A) fammem (B) e v wimamEa
(C) gl e (D) e

Cognition deévelops through the constant prodess ot interaction: between the child and the

environment. This pringiple s reflected n
(A) Thomdike's lcarning theory { itive dew clopmient theory
(C) Tolman's signal learning | aum'mmw

o w=t 3R T & dre A fEa ) i e F mem @ fsha a2 | e fegi
# hafeifem g 2 -

(A) ureEs e fagm (B) foars snmes fawm fagm

(C) Zrela Geha HitTm (D) Hiwen s fagm

In Piaget’s theory a process which is the balancing act between the “old” and the ‘new’ -

between perceptions and expenience known as
(A) Assimilation ' (B) Accommodation

(C) Egquilibration (D) Knowledge disturbance

fars ¥ fagia 3 v i o g 3T — aemd R e & dve wge e d, I
ElcikE *

(A) wETEN - (B) wwHEEE

(C) H@T-F-l D) M fa=
P.T.O.
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30.

(10) s ST,

Which of the following is not a precaution for using intelligence test ?

(A) Avoid unwarranted stereotypes and negative expectations about students based on |
scores,

(B) Individual assessment of intelligence is a structured interaction between the examine
and the student.

(C) Don’t use IQ tests as the main or sole characteristics of competence.

(D) Be cautious in interpreting the meaningfulness of an overall 1Q score.

ﬁuﬁ%aﬂnﬁﬂ&awﬂm&:ﬁmmmﬂﬁm#ﬂ#?

(A) 308 o i 5 Sm e s hgand) e ol & At & s Iite) @ aw |
(B) ﬁmmmwﬁmm%ﬂwwéﬁﬂmh

(C) w6y a1 vehmr Rastwensii & = i 3é oy waoi w1 39 3 F |

(D) U HHH 31§ T T ) wrelean 6 sameAr § GrayE @ |

As per Erikson, psychosocial development of children oceurs in Eight stages. A student of
class Il (around 9 years) corresponds to which stage of development ?

(A) Autonomy vérsus shame and doubt(B) Industry versus inferiority
(C) Initiative versus guilt (DY Intimaey versus isolation

R & FgAR, T 1wt R e i d g R | v s 3 w5 eE (9 & &%

FE-ur) fasmE & fra s @ dq @ & 7
. smce-adda
(B) whomeamdaear

(C) 3Aqed & F9TY
(D) FATTA 4418 HerTTd

Which of the following statement is not true for norm reference test ?

(A) Itis a standardized test, |
(B) Student’s score is interpreted by comparing it with how others performed.

(C) Test is said to be based on national norm.
(D) Student’s performance is compared with established criteria.

e g )

() e e & i e g At w s @
() “t“ﬂqﬂmﬁnmﬁﬂmﬁmtl
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(A) 3 (B) U
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(A) g (B) g
(C) F=fm (D) fermmn
43. T wI= wER
(A) %93 B) |, T
O T (D) =
B 4. UIIETES B A O 2
f £ (A) YEA® H| FFH-NFNR aﬂa
: (C) fieg (B
@45. danfess gt 2
(A) &= (B) & vy
(C) veETE= (D) =aTRTfoTE
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(A) erfea (B) fe=
(C) ICERCIIes (D) tEfE
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(A) T Biftfe af (B)  fore & sea
(C) T & v (D) weAl & W&
so.  IeETEE g R - '
e (A)  HrER wraaft wiaame w1 we v s )

(B) e gl sfgarsal w1 g s go R fan s |
(C) WTeTeh! ol adHY weaeeft sfaameal &1 way womAn |
(D) T ) ey gt sfamegt 1w s
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v Y, e wrvEd el 3t e urd)- s # vave favare & s R | e
e o wiifers gl & wTa IEd wwCHE Sl e o e wie e w2 | e Hau-
e S ) e w ) ERET fraren T & | T o] h e O S ST i weRa @R |

| Sl.

@pz. it & v W & WrEETe W9 ] HE e R

(A) oHE — qEEal __ (B) ®d -wde
(C) =ge — g (D) T — T
53, ‘wifere v Frw e & e g glan 2 7
(A) T @ firemest a9mn g3 (B) ¥&, 5t et e g 81 |
(C) el H forvamE ST (D) ¥t ) T
54, T A THN HHE AR
(A) © (B) 9w
(C) =M _ - (D) I

' T_% 85, ‘Ww-urE’ wee § w1 g 8 7

e (A) @ B) fa
(C) weumd (D) s
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(A) Tradta aref S aren - (B) it avef aren
(C) ﬁﬂrzaﬁﬁm (D). e S e
@57. T S |1 g g & w9 o vy .
(A) forem B] a :
(C) =&H (D) P
58. @H ®F W Iw aft e @ 7
(A) Tt —Tid (B) TR-TE
(C) & —&p (D) 3% — I

59. 'ITEHIYS HET H UGl &1 B A1 F H W1 H R 7
(A) | wiesyq wer (B) e Wi %
(C) W™= Yd (D) 3TE~ YA

(}@w. M’mﬂﬂﬂmﬁt
(A) w9 (B) T
(€) vafa (D) faum
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32.
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36.

37.

(15
SEﬂTl{)H -1 F
LANGUAGE - |
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory
Which question s COrTect in its structure
(A)  Why did she write the letter ? -
(B)  Why did she wrote the letter ?
(C)  Why did she written the letter ?
(D) Why had she wrote the letter 7

“She spcakls English fluently.” The correct passive form of the sentence will be
(A)  English is being spoken by her fluently.

(B) English has been spoken by her fluently.
(C) English is spoken by her fluently.
(D) English was spoken by her fluently.

Which of the following contains the words beginniog with the same consonant sound ?

(A) Chicago - Chorus (B)o Chenish - Charisma

(C) China - Chrome (D) Check — Chain

Which of the following contains 1Edda

(A) heok =brook = luck at

(C) win—we— see (D) lead - leak — break

Choose the correct phonetic symbol for the underlined sound of the word 'boy”
(A) /bal/ (B) /bae/

‘('} -"b_}a#-" [D} !Ilh'J[:lr

What is the proper order of language learning ?
(A) Listening, Speaking, Read%ng_ wﬂlfng
(B) Listening. Reading, Spea?:mg, wm.mg
(C) Reading, Wrniting, Listcnmlg. Spuak!ng
(D) Reading. Listening. Speaking, Writing

is applied in order to choose a particular course for a particular class.
J}_ ?lrh: Principle ﬂmeivalmn.
(B} The Pninciple of concreteness
(Cy The Principle of proper order
() The Principle of selection -



41.

42.

45.

47.

(16) 5T
Which is the classical method of teaching English ?

(A) Direct method (B) The Grammar — translation method

(C) Bilingual method (D) Audio lingual method

Who developed Bilingual method ?

(A) Dr. West (B) Prof. C.J. Dodson

(C) Prof AS. Homby (D) Prof Jesperson

An which approach does the teacher introduce the new words incidently in the class ?
(A)  Structural Approach (B) Multilingual Approach

(C) Situational Approach (D) Multimedia Approach

What is the purpose of writing at Elementary level ?
(A) Development of motor skills

(B) Discrimination of the words

(C) Taking notes

(D) Initiating conversation

Which technique 6f réading is used to look tor specific prece of information ?
(A) Library reading (B Skimming
(C) Oral Reading (D) Scanning

Which is “Look and say " method of read reading ?
(A) The Alphabetic method B
(C) waurdm:dwd

has the advantage of prov iding a focal point of attention for the whole class and
can be used for a variety of purposes.
(A) Picture charts (B) Film strips
(C) Blackboard (D) Shdes

Which 1s NOT a characteristics of a good text book ?
(A) Adequate subject matter (B) Suitable structure
(C) Suitable vocabulary (D)  Frequently misspelt words

Which test is conducted in order to find out the students leaming regarding the
discnmination of sounds ?

(A) Reading test (B) Comprehension test
(C) Listeming test (D) Writing test
_____Yests can be scored quickly and consistently.

(A) Objecuve (B) Productive

(C) Subjective (D) Primary

A
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trade’
(A) th]‘l (B Toys
(C') Fair (D) Mery-po ronnds

Passage (Q. No. 56 - 60) .
The state police went 10 Rastapal village on 19 June, 1947 to close the sehool which wa,
runming i the house ol Nanabha K hant. Nanabhar refused to close the school I'he pohice they
beat up Nanabhai severely. He fell unconscaious. They took him away with them to imprisog
However, Nanabhai died of his injuries on the way before the police could reach thew camp
After this the police beat up the teacher Sengabhar Bheel who had continued 1o teach the
children despite Nanabhai’s death. After beating Sengabhar the police ted im 1o thear truck
They took him away dragging on the road. A student of the school named Kalibar could not see
this. She ran towards the truck with a sickle to cut the ropes and free sengabhm The police

wamed her not to run after the vehicle but she did not listen to them She reached her teaches

and cut the rope with one stroke of the mekle:

§6. The words ‘Sickle and *Velucles® are

(A)  Adjechives erhs
(©) AN a

57. “The police then beat up Nanabhai severely.” The verb  “beat up' 15 1
(A)  Simple Present (B)  Simple Past
(C) Past Perfect (D) Present Perfect

58. 'She reached her teacher and cut the rope with one stroke of the sickle.” The verh “cut” 1s

in -
(A) Simple Present (B)  Simple Past
(C)  Simple future (D) Past Perfect

§9. Which of the following has the three degrees of the adjectives in their correct form *
(A) Angry - angner - angtiest
(B) Angry — more angry - most angry
(C) Angry - more angrily - most angrily
(D) Angry - Angener - Angeriest

60. Which of the following options has a determiner in it ©
(A) The police (B)  then beat up
(C) took him away (DY He fell unconscious
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SECTION-111
LANGUAGE-II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

The battery has
(A) came down (B) gone down
(C) run down (D) ran down

Curtal sonnet is

(A) fourteen line poer (B) ten and a half line poem

(C) thirteen line poem (D) eighteen and a half line poem

‘A lament for the dead is a feature of

(A) Ode (B) Elegy
(C) Sonnet (D) Drama

A fictional prosetale of no specified length, but too short to be published as a volume 1s
(A) drama (B) nwovel

(C) novellas (D) short story

‘Conflict’ is a feature of '
4 adda
(C) drama nove :

Identify the word in which the end sound is

(A) sleep (B) reap
(C) teach (D) deep

t from the other words.

Pick out the correct transcription of the word ' garage’
(A) /guraj (B) gariz
(C) giraz (D) /Gaeraiz

Principle of Linking with Life in teaching of English involves

(A) Use of word structure .

(B) Use of semantic structures of English language in daily life

(C) Use of building structures in daily life

(D) Use of graded structures of English language in daily life situation
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In Communicative teaching teacher promotes communication by
(A)  Creating situation (B) Teacher’s talk
(C)  Bonding of alphabet (D) Creating nervousness

Linguistic Competence refers to .

(A)  Communication knowledge of grammar

(B)  Communication knowledge of vocabulary

(C)  Capability of knowledge

(D)  Communication knowledge of grammar and vocabulary

The challenge of Acquisition Poor Environment refers to
(A) Learners learning of literature

(B)  Poor study habit |

(C)  Pollution in English language

(D) Limitation of learning English language in classroom

One of the main barriers to listening skill is
(A) Time & Dime : (B) Barricades ofclass
(C) Learner’s prejudice (D) Unscathed Ear

Remedial language teaching is meaa ddra
(A) Particular skills left by regular t€aching

(B) Areas left by regular teaching
(C) Limitation of class sjze
(D) Both(A) & (B)

Remedial work for spoken English involves
(A) Dnill and studying

(B)  Revision, drill, situationa] communicati
(C) - Going through sifuatiunal practice

(D) Revigiﬂt_l and practice

Ve practice and reviewing

CnmmuMGaﬁve approach to ey
(A) Ir?lpﬂrtance of meaning of utterances rather thap fo
(B) Importance of form and structure

(C) Importance of evaluation

(D) Importance of learner

aluation emphasizes
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76. The inu:_gral approach of funguag& testing involves testing of

(A) Primary language (B) Secondary language

(C) Third language (D) Language in context

77. Elective Approach to evaluation takes account of
(A) Approach to class
(B) Communicative approach
(C) Structural approach
(D) Combination of commUnicative approach,
approach

integrative approach and structural

78. Remedial teaching should be carried out on

(A) Identification of senior learners

(B) Identification 0 f early learners

(C) ldentification 0 f late learners

(D) Identification of malady on language test and its causes
79. During preparation of test paper teacher takes care of item development according to
(A) Nominated evaluator
(B) Instruction objectives
(C) Numberto copies to be distributed ¢

(D) Seating arrangement

80. In Remedial teaching concentration on trouble spot is best done by
(A) Arranging intensive practice (B) Arranging medicine
(C) Arranging trouble (D) Arranging bubble spot

Passage :
Patriotism or love for one's country is one of the noblest sentiments of man. It is love that comes

from one’s gratefulness to the land where one is born, the country that provides everything that
makes life worth living-food, clothing and shelter, families, friends and the way of life of its
people. Or, in other words, it is our country that gives us all that we enjoy and all that makes
man’s life different from and richer than that of all other animals.-That is why patriotic feelings

are natural to man.

81.  Which one of the following is the most appropriate title for the passage ?
(A) Patriotism (B) Love for country
(C) Noblest sentiment (D) Patriotic feelings
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5 ds' indicates
82. In the above paragraph ‘in other Wores = .
fzr‘:i} emphasl:;s i (B) refqrrn.lulatlon
(C) Sequence (D) Addition
- i arch.
83. The captain as well as his soldiers ready to m
(A) is (B) are
(€) were (D) has

84. In the above passage the author wants to convey

(A) Patriotism is second to any other sentiment.
(B) Patriotism is not natural.

(C) One must be patriotic to an extent.

(D) One should be grateful to the land where one is born.

85. People who buy stocks are no different from people who bet on horse racing. They both

risk their money with little chance of making a big profit.
Above lines contains

(A) the fallacy of hasty generalization.

(B) the fallacy of false analogy.

(C) the fallacy of compesition.

(D) the fallacy of equivocation. d d .
What two words are typically usuan s :a a simile 7

(A) for, against (B) with, as
(C) like, as (D) while, during

86.

87. Which of the following lines contains an example of assonance ?
(A) The sleet streaked her sneakers.
(B) The angry dog barked loudly.
(C) The clown caught the kid before he fell,
(D) This is how the world goes.

88. What device is present in the line ‘The Wind whistled a high and lonesome tune’ ?
ne’ '

(A) Irony (B) Personification
(C) Metaphor (D) Alliteration
89. The sentence ‘The lazy lizard lounged near the lake® is
an .
(A) Met_aphﬂr (B) Alliteration €xample of ?
(C) hyperbole (D) Paradox

90, He said he reconsider his decision.
(A) may (B) might
(C) can (D) could
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MATHEMATICS / T

There 3 . i
re 30 Questions in al] in this section.

All questions are compulsory

Wm'ﬁﬁﬁ3ﬂmg|
T e et 8|

91. If cost price of 12 pens ig ©qual to selling price of 16 pens, then profit/loss in percentage is

equal to
(A) 25% profit (B) 25%]1
(C) 40% profit tD: 40% |E:
@ Iziﬁmm{ﬂmﬁrﬁ%ﬁmm@%w%,a’lwfmmuﬁrmm%
(A) 25% %M (B) 25% =My
(C) 40% &y (D)  40% &ifA

92. Mr. X has a certain amount. He deposited-iri bank some amount at simple interest rate of
10% and rest amount at 12% rate of simple i cre:;” One fourth of first amount is equal to

the one fifth of rest amount. If total interes er two years, then total amount
: invested is equal to (g
(A) T 12,000 -

(C) T11,250 (D) 11,500
o X % v fafvaa aftr @ | 36 % afi 10% et s 6 e @ aik S ol 129

TS ST G H A 11 F | wyw it <t R, S ot % vied R % s
® | afe gt a9l & & Fet =9r 2 2,500 F A 517 Y 71 et Ty awren R

(A) ¥12,000 (B)y 11,000
{C) ¥11,250 (D) T 11,500

3 litre mixture of water and sugar has 40% sugar. If | litre water is added in this mixture,
then sugar percentage in new mixture is equal to :
(A) 25% (B) 30%

(D) 40% |

C) 35% |
iﬁ%&ﬂt:ﬁ"ﬂ%ﬁﬁa%ﬁwﬁm%m% | 3G | ftex vt 3w frsyor 3 firem fom wven

2, 7 Paon 3wy 1 o e 2
(B) 30%

(A) 25% _
(C) 35% (D) 40%

&J_. ; e ul

93.
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| ual to :
9. In given parallelogram ABCD, values of ¥ affl S ?‘E

G 75 'E

' .

| . =

e 150° ‘g

(A) x=25%y=125° (B) x=125%y=25 g

ECJ I=[5°;};=30° (D) I=3ﬂﬂ;};= 15° :-‘i

]

‘?

|

il. 5}._ ?jn
1500
| (A) x=25%y=125° (B) x=12.5%y=25°
(C) x=15%y=30° (D) x=30°%y=15°

95. .Kahir buys pencils at the rate of 11 in T 10. He sells it at the rate of 10 in ¥ 11, His profit
In percentage is equal to ;

(A) 10% (B) 11%
(€)' 20% (D) §21%
FHRT 10 11361 2 & ¥t TR ® |48 1 Ladlo 61 20 @ 38 a0 a1 2 | I8 S
RISE g :

(A) 10% (B) 11%
©) 20% (D) 21%
$.5. 4 125

96. If'x+ﬁ+§+a=2ﬁ-then.risequalm
il 247
: ® 16

349
©) T2 (D) 2
3.9.4 125
Wxt§+7+9= 2136 M T
(A) 1 247
B) 126
349

© 126 (D) 2
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g7. In given circle, vallue of 8 is equal to '

W), 8T | B a5
(C} 35° {D} 650
fRRgad, 0% wmawamd

(A} 35° (B) 45°
(C)." 35" (D) 65°

98. Out of following which statement dnﬁdrd thematics 7
(A) Mathematics has its own lang ich formula, concept principle are
- derived. :

'_ (B) In Mathematics there is scope to explain the abstract concept.
(C) In Mathematics area of Generalization is narrow.,

(D) Numbers, places, measurement are base of Mathematics.

frafirfga & & 17 a1 %y it 6 vl 78 guia g 2

(A) wifora < ot s gt @ foreeh Areas & &, werw, R 1 whre R |
(B) fore F 7ot wewre <hY SATEAT i HTE I # |

(©) o 3 e 51 8w R |

(D) @A, T, WIgA T T 1 SRR |

L_.ll Loy
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100.

N | ey

(70) STy

“The progress and the improvement of Mathematics are linked to the prosperity of the
state.” This statement reflects which value of Mathematics ?

(A)
(B)
(€)
(D)

Social value of Mathematics
Moral value of Mathematics
Artistic value of Mathematics

Disciplinary value of Mathematics

T ) = e g 2 B T @ R 1 R P
SeRia e R 7

(A)
(B)
(C)

(D)

fera 1w e
v w1 Ao qe
T % weTeH You

T & FITEATHS qod

A device for finding out what pupils @ndersand and can do with a purpose of adapting
future teaching to the needs oFthe ifidividiiater HeRlass is known as

(A)
(B)
(C)
(D)

Summative Assessment”
Informative Assessment
Diagnostic Assessment

Testing

U Qi Ao Wil I8 S 1 A et R o el fea wwd € st em mmﬁgm

T o1 &% 6 wo% A SafFe et o i sravasa & sEn sfrey 1 few 51 @
Heh, FHEATI @ :

(A)
(B)
(C)

(D)

T AR
TS e
frerTe e
Erikinl
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102.

. : . _
Out ﬂi- fﬂ“['lw.ng w‘hlch - the h ( l} . F
Chara

Lookin
(A) INg in pupil’s answer | it
as they are working.

(B) -Listening to pupil’s t
alkin .
discussion, & 10 other pupils as they explain the work or engage in

() ST T B T o ¢ o e o e e |
(D) Taenfeiat it sor-yftramat =i sta w0 3%/ vem =@ |

All teachers afe encouraged to use precise 1 tical vocabulary, and to promote the
use of mathématical vocabulary amo ﬂr&am is known as
(A) Language in Mathematics Edm,

(B) Valuesin Mathematics Education

(C) Correlation in Mathematics Education

(D) Toolsin Mathematics Education

mﬂmaﬁmwﬁﬁﬁﬂmﬁﬁﬂ%mﬁ@mﬁmm%mﬁmﬁ%m
mmﬁ?ﬁmﬁwiﬁﬂ%,wmﬂﬁmw%

(A) Tiior Rregor = WIS

(B) ifer fireror ® 464

(C) fora faveor & FEEE

(D) Tifore fggon H IR
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103. Out of following, which statement is not correct with regard to charactenstics of

Mathematics ?

(A) Mathematics is called the Science of logical reasoning.

(B) Mathematicsisa way to settle in the mind a habit of reasoning.

(C) Mathematics is not a abstract science.

(D) Mathematics has béen defined as the Science of number and space.

A1 Rl 3 et o & a8 e e <y v ) - A gt 2 2
(A) rftre frml 1 arfehes famm 2 |
(B) IO Al & WG H deh o 3¢ %) S HIAA 2 |

(C) T angd s =& 2 |
(D) TIfOTE %Y HET v T % fase % g § uftafye e g |

104. To know thé nature and characteristics of érror ook place by siudents while solving the

problems of Mathematics is known as
(A) Content analvsis in Mathema d d a
{B) Error analysis in Mathematics

(C) Content synthesis in Mathematics

(D) Error synthesis in Mathematics

ﬁﬂrﬁfﬁmwﬁmmﬁ%ﬁﬁﬁ%ﬁmaﬁmﬁmﬁwﬁﬁﬁuﬁaﬂiﬁm@
51 S S e 1 e |

(A) forg & fervarerg foreete
(B) Tifvra & Ffe ferversm
() niftra # fararerg et
(D) wﬁmﬁjﬁa‘?ﬁw
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105, Situation presented by teacher in the ¢
pew topic is known as

(A) Previous knowledge
(C) Statement of aim

F

lassroom to find the attention of students towards

(B) Introduction

(D) Ideal question

A 5 3 S Rreia w1 e st a ‘
* -y | &1 91
i et fore ST g wHEn-+E § WA

(A) . (B)  wEEn

(C) I 205 i

106. Out of following which statements does not shows best principles of curriculum

construction in Mathematics ?

(A) €urriculum of Mathematics should be child centered.
(B) Curriculum of Mathematics should be activity based.

(C) Cun‘icu]um of Mathematics should be logically &Lpsychoiogiﬂﬂﬂ}f arranged.

(D) Curriculum of Mathematics need not require teacher acceptance.

Frferfem 5 & % &1 em hm % wgams fufo #i s aw & 78 gntm 2

(A) rora <1 wrgam feameff S5 #e =gy

(B) wiftre k1 argasn BRan i g =au |

(C)  TIfUFe =h1 YT3g=HY HATETI v wifeu |
’QD} nfora 1 rgusRE e I |

107. Out of following which is not best way of knowing the weaknesses of the students in
Mathematics 7
(A) Asking questions msxde or outside classroom,

(B) Oral work.
(C) Analysis of answer scripts of students.

(D) By comparing students

Pesorfian & < e faft Frerfat v seaesh ey s ot e o 22
(A) Terenfeft 91 e % 30T WECIEA FE |
(B) wifigs %l
(©) frenfefai it sen-gfewpiai @ faeete
I@D) fererelet & qer Fh

..-*-L___
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08, Ty, Whole numbers are given. If thr

5T4

(74)
ee times of larger number is divided by smaller

Number, then 4 as quotient and 3 as remainder are obtained. If seven times of smaller
Mumber is divided by larger number, then § as quotient and | as remainder are obtained,

Smalle:r number is equal to
(A) 25
(B) 18
(C) 36

(D) s0
ot s 2t 1 9 < v 3 o i o e @ e i e # A s

4 37 et 3 w7 B & u&ﬁﬁm%mg&qﬁa@m#ﬁﬂﬁﬂﬁﬂlm%ﬁ
WITHE 5 3R B 1 5Tt & 2 | B s w2

(A) 25
(B) 18

| (C) 36

o dd

109 Sum of place values ﬂf? 6 and 9 in the number 17065809 is equal to

(A) 706009
(B) 7006009
(C) 7060009 -
(D) 70060009

@ AT 170658097 7, 6 31K 9 % T WA 1 A s g

(A) 706009
(B) 7006009
(©) 7060009
(D) 70060009




o

110. If the following fractions are arranged from smaller to larger fraction, then which fraction
will come in the middle 2

1 3
3 31%.75.0313, 2902
¢ A) T3 * (B) 0313
(€) 31% ® 2
qﬁﬁni'““ﬁ%@ﬁﬁﬁaﬁlﬁtm@ﬁﬁmmt?ﬁmﬁﬁﬂwﬁ
et 7 :
= 3 ;
3- 31%, 15, 0.313, __u.zm
. 0.909 :
) T3 (B) 0313
(C) 31% 3
i ) To
1L If 9x76
— Ry
3yy7
then values of x and y are equal to
(A) x=9,yv#8 (B) x=3y=9
(C) x=5;=8 (D) x=4:y=8
'Elﬁ Ox76
-4 adda
3yy7
A x 3R y F 9 T E
(A) x=9;y=3 (B) x=3y=9
(C) x=5;y=8 (D) x=4;y=8§

112. Mr. X has & 55,600. He invested it in a scheme and got 8 times of his amount. Then he
donated ¥ 57,986 to a trust. Again he invested rest amount and got only one third of it.

Now Mr. X has amount equal to
(A) T1,28,938 (B) ¥1,29,838

(C) 71280948 (D) 129,848
st X 3 9T T 55,600 & | 399 T8 U Are ° P forn ik 3w o w1 8 v v R |

et 36 7 57,986 T TXT 1 g = fed lgﬂ:mﬁwgmmﬁ%nﬁamaﬂxmm '

- frard s TR | 378 X & OT U WO R

(A) T1,28,938 (B) ¥1,29,838
(C) %1,28,948 : (D) T1,29,848

_
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113,

114.

(76) ST-I.
Ifa regular polygon has 9 sides, then each exterior angle is equal to
A 36° (B) 40°
©) 1400 (D) 160°
R O T w0 o &, o el W AR -
(A) 36° (B) 40° 3
(C) 140° (D) 160°

Perimeter of a square is 144 cm. If area of a rectangle is equal to the area of this square
and length of rectangle is 81 cm, then difference between length and breadth of rectangle
1S equal to :

(A) 16cm (B) 64cm

(C) 65cm (D) 36cm _ .
O T 1 9Ty 144 T R | 9 ©F A 1 SAed 36 11 % A% % SO & a9l A&

o) orars 81 At R, A 3rva i o aun e # s e 2
(A) 168 (B) 64 @t
(€) 65t (D) 368

115. IfH.C.F. (408, 1032) = 1032x — 408y and x + y = 7, then (x — y) is equal to

(A) 3
AME 7.4.9. (408, 1032) = 1032x — 408y 3 x+ y = 7, Al (x — y) TR B
(A) 3 (B) -3

iy 2 (D) -2

116. An examination is being mndﬁ_cted of three subjects Science, English and Mathematics

having students 60, 105 and 135 respectively. Sitting capacity of each room is same. Also
each room has students of only one subject. Then minimum number of required rooms is

equal to

(A) 15 * (B) 20

(C) 25 (D) 30

60, msaﬁt]ssaﬁmﬁmqﬁwﬁm:ﬁw,a'ﬂsﬁaﬁxﬁaﬁﬁqﬂmmm
ffﬂmm%rnﬁ;wﬁﬂaﬁaﬁlmm%lmmﬁwwﬁﬁw%wi

A Jrravas H Y =an He T 2
o (B) 20
©) 25 D) 30
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118.

a7 %
In given tnnngle ABC, AP ;
ZPAQ is oqual to ' bisector of ZBAC and AQ is perpendicular to BC, then

A

T5%
B 350

Qb C
il (B) 40°
o) 15 : (D) 25°

fed ™ firgw ABC H, AP, ZBAC 1 ®afgsres & 9o AQ, BC W o B, dl LPAQ WUt R

r
w

(A) 20° (B)  40°
) 15 (D) 25°

In given triangle ABC, OB and OC a C respectively, then ZBOC
6 is equal to

B C

(A) 70° (B) 110°

(C) 140° (D) 80°

3 m fige ABC #, OB 3R OC #am: £B 3R £C & wafom &, @ £BOC st R
A
O

B £
(A) 70° (B) 110°
(C) 140° (D) 80°



. o then which 3’-&_@
' as per diagram, theml WhICh one op 5

119. Sides BA and DC of quadrilateral ABCD are extended
the fnllnwing is true ?
D C
v "
b,/u ;
A B
(A) x+y=a+b (B) x+y=a-b
_ 2
€C) x-y= a;b (D) = =a—b

T ABCD 1 yanait BA 3ft DC %) 3af Far sgral <l &, A=A TP I,

D C
1 a
x
A B
(A) xAy=a+h x+y=a-b

b
-G adda

120. A student’s mark was wrongly entered as

108 instead of 98. Dye to this mistake, average

P . : |
@ marks of class got increased by 5- Total number of students in the class is equal to
(A) 10 (B) 30

(C) 50 (D) 70

T B F 3% 08 FY w9y 108 fe & 3iferm 2 ma Imz&%mm%aﬂqﬁm i
T | e H B ) o e av

(A) 10 (B) 30
(C) 50 (D) 70
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SECTION-v /@vg -V

EN
VIRONMENTAL STUDIES / qaTetor 3168

Ther : :
¢ are 30 questions in all in this section.

All questions are compulsory.

HEvEs i A 30 T E | @
ft wva e § )

@ 121. Which is the state bird of Rajasthan ?
(A) Great Indian Bustard
(B) Peacock
(C) Vulture
(D) Crane
TTETH W1 T4 98l FHH1 2 7

(A) TirETE
(B) R

% ey ; B
ci e ¢ adda

122. Which i correctly matched ?

(A) Bombay Natural History Sm:ie'zy - New Delhi
(B) Botanical Survey of India - Kolkata
(C) Wildlife Institute of India - Coimbatore
(D) National Botanical Research Institute - Jodhpur
(@ Prafafon it s agafera 2 7

(A) e e feedt wred - wdfeeh
(B) T aefa aee Y = EacEas
(©) et aeaa W - g
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123. Which of the following is not a source of renewable energy 7
(A) Fossil Fuel (B) Hydro Electricity
(C) Wind Energy (D) Solar Energy

@ Fr=fafiga 3 & 9w Tl st & dm a2 2
(A) Gﬁ'ﬂméuq (B) mﬁﬂﬁ

124. Who coined the term ‘ecosystem’ ?
(A) Haeck r:..l {(B) Humboldt
(C) Tansley (D) Odum

it wreg o1 e fehee femam 2
(A) Elehet [m
(C) &’ a a

@ 125. Which place of India has highest rainfall ?

-

(A) Bengaluru (B) Mysore

(C) Srinagar (D) Mawsynram

STed & gatfis oul aen WHHHA AR 7
(A) werE (B) #H
(C) #Fw (D) wfeem

5T-1
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_@;Eﬁ- Biotic component of environmeng includes

G fBj: “Air

i (D) Water

AR % A v § i 2

(A) ‘ﬂ*‘ (B) =mg
£(C) ‘@)

127. Minamata disease is related to which of the following ?

(A) Cd pollution (B) SO, poliution
- (€) Hipollutiag © (D) Nomeofthese
s ot e P 3 & P ® -
(A) Cd 3Eyu . (B aﬂ
(C) Hg5gdq a g
-

Which one of the following is non-projected teaching aid ?

128.
(A) Film strip (B) Chart
(C) Epidiascope (D) Slide
PreferRa 3 & arwafia feo anofl S R 7

(B) =@

(A) foem fgw
() o e 77 (TiigERm) (D) FEE

)
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129, . ' : : serv. ation ?
Which one of the following activity is not related with epvimnment con

(A) Deforestation
(B) Cnns;ewatinn of natural resources
(€) . Massive plantation

: {E.;) Cleaning of waterbodies

| kﬁﬂﬁqﬁmﬁﬂﬂqmnﬁﬁhmﬁ{mﬁmﬂﬂﬂi?
(A)
(B) w@iﬁﬂaa‘amq‘im:i{m'

(C) &g Hemur

(D) mﬁﬁ |
' © adda

130." Ih environmental education which teaching method is related to group discussion ?

(A) Roleplay (B) Lecture

(C) Narration . (D) Symposium
qatercor forer & wmfies e & rafa fraw fafa S @ R ¢
(A) st Prafe (B) =T

- (C) =oH (D) FrEm-TiE



school.

(D) to evaluat; the skills of the child during their presence at the school.

()W T A i (4 4 1 g S
(A) mﬁm%mm%mmm@mmr
(B) ﬁmﬁm%mmﬁﬁwmml
(C) ﬁwﬁaﬂﬁﬁ%mw%mqﬁmaﬂq@maﬂml
(D) mﬁm%wm%ﬁmﬁmmml

132. Full form of IEEP is a d d a

(A) International Environmental Education Project

(B) International Environmental Education Programme
(C) Indian Environmental Education Project

(D) Indian Environmental Educatinanmgramme
o .6 e

(A) TS TARITTHEE T SISt

B) ST T T s

(©) 3fe AR T Mo

(D) ¥fP e T ST
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133." In order to access the students’ academic achié:.rements of teaching environmental studies

which of the following evaluative indicator shﬂui:&' not be used ?

fﬁ} Dbﬁewaﬁon )

(B) Discussion o :

- (C) Experimentation | :
. L]

134.

(D) Remedial teaching

mmﬁm%mﬁﬁﬁﬂﬁmmﬁ:ﬁaﬁﬁﬂ%mﬁﬁ%ﬁﬁﬁﬁm
FTHeT goeh &1 YA 78l foar s =i 7

Which one of the following is notad dad teaching ?

(A) Good teaching 1s based on a
(B) Good teaching is democratic.
(C) Goced teaching is not value based.

(D) Good teaching is planned with definite aim.

frafafea § @ =i € faviear o= e A 7= R 72
(A) Mﬁmﬁ?ﬂ?m@'ﬂ%l

(B) v g Sishar=e BT 2 | |

(C) . Fr=s1 firego T i el €T @ |

(D) 3T e gaafera fftm stw € |
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35. Which one of the followj T R i :
@ Wing choice is not included in the content of environmental study ?

i H

(A) 3 Forest conservation

(B) Political conservation

(C) Water conservation

(D) Soil conservation ‘ :

Wﬁ'%ﬂqmﬁmm o i Rywgasg 3 wfufera 7€ fem s ?
(A) o HE ‘
(B) TTIforeh dagmor

(C) Te1 W&

(D) H<1

136. Which one of the following law is not related 10 fhe trial and ervor theory of learning ?

(A) Law of reinforcement
(B) Law of readiness - 1
(C) Law of exercise |

{[5}. Law of effect

g - e s 5 @ g R & R T 7

@;_{A) gﬁmmﬁw
(B) At 1 aH
(C) 7TE &I HEH

#

(D) T 1
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i
|
|
137. To prevent child labour in India in which year the Child Labour (Prohibition and Regulation)
Act was passed ? - | ; .
|
(A) 1938 |
(B) 1988° '
(C) 1986
(D) 2017 |
@mﬁmmaﬁnﬁiﬁmmﬁ%mﬂm s (P wd fafveem) sifufam fea ad § wiw
o w7
(A) 1938 e |

(B) 1988

(C) 1986

(D) 2017

@ 138. What is the minimum legal age of adrdsamys in India ?

(A) 16 years and 18 years
(B) 18 years and 21 years
(C) 18 years and 18 years

(D) 21 yearsand 21 years

RA | TSHA1 9 TgH! & foaTe I =Haw FI g Fn g 2
(A) l6Td g |8

(B) 1894 ug 2] ad

(€) 18TdTE 18

(D) 21adug 219y
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140.

141,

s

(87) : F -

£ i :
@ 139. What is the name of ‘textile city” of Rajasthan ?

(A) Udaipur : (B) Ajmer
(C) Sikar (D) Bhilwara
TTEIT g8 Ty BT 7

(A) '3@5{' : (B) s
() (D) . sfietargr

What is lh;-, name of medicine commonly used to control the addictiﬂn of narcotic drugs ?
(A) Folic acid | ; v (B) Cm;:aine

(C) Ascorbicacid (D) Pcmidine
mﬁmﬁﬁmﬁﬁﬁﬁaﬁ%%ﬁﬁmﬁwmﬁaﬁmﬁaﬁqﬁwww%?

(A) WileTh 371 a{ma
(C) WEpilsieh 31 (D) *

Which of the following is declared as 100% Open Defecation Free (ODF) State ?

(A) Andhra Pradesh () Assam

(C) Kerala (D) Tamil Nadu

P & 9 1 100% TR v T (3w T R 7

(A) g v (B) 3w

©€) @ - (D) b
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; :
® 14;. The total number of Member of Parliament in Ra_iya gabha from Rajasthan is
(A) 10 ®) 25
(©) 35 D) 20
(A) 10 B) 25
© 35 P

143. Who discovered nylon ?

(A) Melvin Calvin (B) Wallace Carothers

(C) Robin Hill (D) Peter Mitchell

AT i AR e fRar ¢
(A) /Hfewm Hfcaw (B) Forerd
(C) Ut feet ad :

@ 144. Which of the following is not related to Rajasthan ?

{A}. Beneshwar Fair (B) Pushkar Fair
(C) Khejarli Fair (D) Magh Fair
fraffiga d 8 S @ oA A R i g 7
(A) SR HE (B) ot Fem

(C) Bgel Helm - (D) WEden



(B) 1856
(C) 1853
(D) 1959
mﬁmw}maﬁgﬁmﬁ@ >
(A) 1920 @)
) 1856
(€) 1853 D)
1959
@14&. What is ‘Pisciculture® ?
A o
(A) Bee culture (B) Fish culture
(C) Poultry culture (D) None of the above
Foefrereae s 2 7
(A) Ty ) W
(C) il ieH (

147. Jhamarkotra mine is famous for

(B) Rock phosphate

(A) Copper

(C) Zinc (D) Uranium
qEITe EeH TG

(A) diar (B) Tsh BTEhE

) f= (D) FiFm




@143- Which of the following is @ cont

F

150.

©90)
ag-imls diseasc i

(B) Heart attack

(A) Diabetes
(©) H}’peﬂensi‘nn (D) Diphtheriad

ﬁﬁ%ﬁaﬁﬁﬂaﬂﬂmﬂﬂﬁmﬁ%?

(A) =YHE (B) A

(C) I=-T&TEN (D) f?ﬂﬂﬂ'ﬂ?

. Which of the following test is directly related with HIV ?
(A) Widal (B) MP

(C) ESR (D) ELISA

Prerferaa # & i a1 i o 2 s e 8

(A) fasm 8) g

(C) FWHR (D) Ul

In which year pulse polio immunization programme was launched in India ?
(A) 1985 (B) 2005
(C) 1995 (D) 1990

T e e BTl T e 3o foe

By T . (D) 1990




